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ENILE B3t | 43T |RT Bt |4 [RbTE B | 2P | | 485t
NEEER 10 10 10 30
TH A 5 5 5 15
INEES 5 5 5 5 5/ 10 35
BB % 5 5 5 5 5 5 30
B 2 5 5 10 20
ER A 5 5 5 5 5 5 30
TEZ 10 10 10 30
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U SN 5 5 5 15
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/=4 5 5 5 15
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NEIEX 10 10 10 30
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EED 5 5 10 20
B A 5 5 5 5 10| 5 35
R 5 5 5 5 5 5 30
SEAER 5 5 5 15
EiPER 51 5/ 5 5 5/ 5 5 5/ 5| 45
B % 5 5 5 5 5 5 30
A D % 5 5
REt & 5 5 5 15
EB AR 10 10 10 30
BT A 10 10 10 30
B 10 10 5 25
BIEES 5 5 10 20
EER 5 5 5 15
B % 51 5 5 5 5| 5 5/ 5| 5| 45
(EERER 5 10 10 25
BB B
1872 5 5 5 15
HEEE % 10 10 10 30
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